SAP ABAP table TCACS SEGTYP {IFBA: Segment Type}
TCACS _SEGTYP-MANDT = T000-MANDT TOO0O

e - MANDT [CLNT (3)]

- TCACS _APPLDEF
-7 TCACS SEGTYP-APPL = TCACS APPLDEF-APPL - -90°N APPL [CHAR (6)]

-7 TCACS_BUSOB]
-7 MANDT [CLNT (3)]

j.' ______ T _C_Agg—_sEGIYLP:B_U_S_C)_BJ_—TY:P_E:_i TQIA_C_S::B_-U-_S_()_B‘I-EQS_QBJ—_TYPE ON APPL [CHAR (6)]

' TCACS_SEGTYP-REF_BOBJ TYPE = TCACS_BUSOBJ-BUSOB] TYPE  _ —

1----- T e I T - 0..N [ BUSOBJ_TYPE [CHAR (3)]
0-N _TCACS_SEGTYP-STATUS_VERSION = TCACS_VALSTAT1-STATUS_VERSION VERSION [NUMC (6)]

___________________________ TCACS_VALSTAT1

0.N"~_ TCACS SEGTYP-STATUS WORK = TCACS VALSTAT1-STATUS WORK 0..N [STATUSCLASS [CHAR (1)]

S STATUS VERSION [CHAR (1)]

- -~ 0-N TSTATUS_WORK [CHAR (1)]
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